Test test100

Operation: BasicOperations.Get

Response time mean Operation throughput
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Configuration test100 requests |errors| latency |latency| latency | RTM at | RTM at | RTM | RTM |RTM at| RTM at |histograms
mean |std.dev max 50 % 90 % at95 | at99 | 999 % | 99.99 %
% %
~ | infinispan- |Cluster[server=8, lteration), , )3 ;3 0/802.61 us|5.78 ms|654.31 ms|495.62 us|987.13 us|1.33 ms|3.29 ms| 1874 ms|239.08 ms| Listogram
snapshot client=8] 0 percentiles
~ [infinispan121)Cluster[server=8,|Iteration|,, 5, 7, 0/867.68 us|6.11 ms|796.92 ms|495.62 us| 1.09 ms|1.58 ms|4.95 ms|23.46 ms| 2569 ms| Listogram
client=8] 0 percentiles
Operation: BasicOperations.Get.Null
Response time mean Operation throughput
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infinispan-snapshot infinispan121|
Configuration test100 requests |errors| latency |latency| latency | RTM at | RTM at | RTM | RTM |RTM at| RTM at |histograms
mean [std.dev| max 50 % 90 % at95 | at99 | 999 % | 99.99 %
% %
~ | infinispan- |Cluster[server=8, lteration| , o, |55 0/767.81 us|5.66 ms|608.17 ms|475.13 us|966.65 us|1.29 ms|3.13 ms| 16.58 ms|241.17 ms| Lstogram
snapshot client=8] 0 percentiles
~ |infinispan121|Cluster{server=8,|Iteration| o 51q c74| 0| |43 ms|6.42 ms|792.72 ms|827.39 us| 2.24 ms|3.54 ms|8.36 ms|30.67 ms|262.14 ms| Listogram
client=8] 0 percentiles
Operation: BasicOperations.Put
Response time mean Operation throughput
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infinispan-snapshot infinispan121|
Configuration test100 requests |errors|latency |latency | latency | RTM | RTM | RTM |RTM at| RTM at | RTM at |histograms
mean |std.dev| max at50 | at90 | at95 | 99 % 999 % | 99.99 %
% % %
~ | infinispan- ) Cluster[server=8,Iteration|, ; o7¢ 150! (276 ms| 9.27 ms|620.76 ms| 1.79 ms| 4.23 ms| 5.96 ms| 11.34 ms|203 42 ms| 262.14 ms| Ristogram
snapshot client=8] 0 percentiles
~ |infinispan121|Clusterfserver=8,|Iteration||, ,5» »>5| |2 84 ms| 9.63 ms|771.75 ms| 1.7 ms|4.65 ms|6.91 ms|14.29 ms|207.62 ms| 297.8 ms| Mistogram
client=8] 0 percentiles
Operation: BasicOperations.Remove
Response time mean Operation throughput
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|— infinispan-snapshot — infinispan121|
Configuration test100 requests |errors|latency | latency | latency | RTM | RTM | RTM |RTM at| RTM at | RTM at |histograms
mean | std.dev max at50 | at90 | at95 | 99 % 999 % | 99.99 %
% % %
~ | infinispan- [Cluster[server=8, Iteration|; 495 70| o 27 ms| 9.1ms[429.92 ms| 171 ms| 423 ms| 6 ms| 1147 ms|201.33 ms| 260.05 ms| histogram
snapshot client=8] 0 percentiles
~ [infinispan121{Cluster|server=8, Iteration| 55, ¢, 0[ 2.84 ms| 9.43 ms[595.59 ms| 1.65 ms| 4.78 ms| 7.14 ms| 14.68 ms|206.57 ms| 289.41 ms| Listogram
client=8] 0 percentiles
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